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A developer has created a Red Hat OpenShift on IBM Cloud cluster using VPC compute infrastructure.
Why can't the developer see the worker nodes via the VPC screens in the console?
Response:

A. Kubernetes cluster worker nodes and VPC reside in the client account

B. Cluster nodes are not properly configured

C. Worker nodes have been moved to a different VPC region

D. VPC workers reside in an IBM service account and are connected to the client's network

Answer: D

When a developer uses a role binding to apply a role, they give a user access to resources. How are
those resources scoped?

Response:

A. Specific pod

B. Specific cluster

C. Specific namespace
D. Specific cluster group

Answer: C

Which two integrations does Watson Assistant provide out of the box?
Response:

A. Slack

B. WhatsApp
C. Twitter

D. Google Chat
E. Wordpress

Answer: AB
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What are two benefits of IBM Cloud Code Engine?
Response:

A. Use low code/no code

B. Fully managed service

C. Runs on bare metal servers
D. Database engine

E. Scale to zero

Answer: BE

Which role is a combination of any number of actions that are available for a service for any platform or
service role?
Response:

A. Custom access

B. Platform management
C. Service access

D. Combined access

Answer: A

Which one of the following capabilities of DevOps toolchain includes having the option to leverage a
browser-based IDE?
Response:

A. Integrate open toolchains
B. Collaborate

C. Edit and push code

D. Deliver continuously

Answer: C
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At what point does the Vulnerability Advisor scan images for vulnerabilities?
Response:

A. Once a month

B. Every time the IBM Cloud account is accessed
C. Only when manually initiated

D. Every time an image is pushed to the registry

Answer: D

A development team has decided to use Ansible playbooks in order to automate configuration tasks.
The team wants to store the playbooks in a repository that provides source control and an easy means
of collaboration.

Which two options would meet this requirement and make the playbooks accessible to IBM Cloud
Schematics?

Response:

A. Team Foundation Server
B. GitLab

C. Monotone

D. Bitbucket

E. Assembla

Answer: BD

A developer has concerns that the automatic refreshing of secrets could result in application downtime,
as the secrets could be refreshed while the application is live. Which of the following features of IBM
Cloud Secrets Manager should the developer use to prevent this?

Response:

A. Secrets Engine
B. Locking Secrets
C. Secrets Rotation
D. User Restriction

Answer: B
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